o
[N

o

<3 @> (rad)
o
=
[y (6)]

1 2

TP

n (PCA to beam

line

< d cot(B) >
o
[
[6)]

..........................................

1 2

3

TP n (PCA to beamline)

MY

ARt

[Sejeieele

el

y
20078t

ar S
arelz—s
are2i—s
are50-3

.........................................

.........................................

........................................

......................................

2

3

TP n (PCA to beamline)

<op/p, > (%)

.........................................

T2

3

TP n (PCA to beamline)

—

.........................................

=

2

3

TP n (PCA to beamline)



	Contents
	Page 1


